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HE: NYWols YK
e BEEEE CER-ED
SA - () - NRANY - BES 0 &k 7= Hl &2
2B ALR = 4,012,216 4,225,956 A 213,740
ANgog 249X 3,320,352 3,534,092 A 213,740
Z3gsid 3,320,352 3,534,092 N213,740
SFEs YR X 3,320,352 3,534,092 N213,740
201 Let24E] 680,077 675,577 4,500
01 AFR2telHl 495,513 491,013 4,500
OCIXtel OI0IXI AtE = 3,500,000 3,500 0 3,500
OCIXte ZEE AEZ 1,000,000& 1,000 0 1,000
202 04l 4,500 86,040 A 81,540
03 =2 R0 0 78,040 AT8,040
OAE MHEA SAYS 30l 0 8,040 8,040
O2H MHEA L LSRR Yo
= 0 8,040 A8,040
32 0& 0 4,800 N 4,800
-4 0& 0 888 A 888
-=gz 0& 0 1,728 N1,728
-2l 0& 0 624 N624
022 SF=A=E =¥ 0 0 70,000 A70,000
04 =H =04l 0 3,500 A 3,500
OUYESE 24+ Heleis 02 0 3,500 £3,500
205 2|3l H] 2,495,157 2,667,257 A172,100
04 Q& =204l 0 172,100 A 172,100
OBF=AEZY 0 137,000 A 137,000
o9& 0& 0 117,000 A 117,000
O=2 Hd&AA HIWAIZE 0& 0 20,000 220,000
oG 2H HHEA 2 2E5DFE TA B4
22 0 0 35,100 A 35,100
405 TtatFH S 99,300 63,900 35,400
01 &L ESHSH 95,300 59,900 35,400
OLE=(5M &4AARS) 1,500,0008 » 5CH 7,500 0 7,500
od - ted| 8,100 0 8,100
OSYUAAE (F2A, 312al)
3,050,000 = 2CH 6,100 0 6,100
O=&HAHa 2,000,000& =+ 1CH 2,000 0 2,000
om 8,100 0 8,100
OZANALARE (AVTA H2AAY)
1,000,000 = 2CH 2,000 0 2,000
OISR (H2AAY)
1,000,000 = 1CH 1,000 0 1,000
OS5I (394)
1,800,000 = 1CH 1,800 0 1,800
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2A-F3H-H2A(3) - MY - BES Of] Ak I & Hns2Z
PEEEES 1,500,00094 = 2CH 3,000 0 3,000
OTVHRIH(HE 23RS 3oal)
300,0002 * 1CH 300 0 300
O} (HH2FRE HRA) 2,340 0 2,340
OzlelgHol 2 670,00094 = 1K 670 0 670
oszlagAxt 154,000 * 1074 1,540 0 1,540
otlolggel 65,0009 * 204 130 0 130
OO0ISE HILUQER2HH (AKX A) 4,200 0 4,200
OoHltlZZ [ 3,500,000 = 1CH 3,500 0 3,500
OgAg 23 500,0008 * 1JH 500 0 500
O AT 200,0008 « 174 200 0 200
o0lsSgH= 4,360,000 *~ 1HE 4,360 0 4,360
OdED(EcIHE) 500,000 * 1CH 500 0 500
OFZHAII(HIAMA) 300,000 = 1CH 300 0 300




